5 134470

112 & £ a4 35 3 B ir 4 B 4 A

34570
P =x:3-1
£ uzEg
oA iR
F polafrEcs
{;é‘ﬂi:ﬁ& 2’]% }j:.%'fu
AR B TIPE

Ry%

B A RERRA (50
_H \’a#/i’ lfé} F;g\g\g{& FRRBOTRD Y hiES L St R FEF 0 3T P
R+ a b hEEIRE o

(LA ‘\‘ o R AR FITE o

=y \h :1%}
e *’P’l‘* — W

l};_ ﬁo,
Qiﬁﬁféﬁﬁ

- R ALHA S s hfE

y'+4y=1+x+sinx, y(0)=0, y'(0)=0

" d2 ' d N
y = y! y:_y (15& )
dx

- A 09 0.1
- 0.2 0.8

)£ 2 Achrjic e (eigenvalue ) & 1 & chd¥ o £ (eigenvector )< (4 4 )
O Rfz A* e B D e £ 0 (44 )
@iz A" = limA" « (7 &)

N * % #i (residue) 3 WL o (10 &)

0 (1+x%)°

X

T o~ R X By B A 5% R S#ikc (joint probability density function) #_
fo (X, y) =A% 0<x<o, 0<y <o
=0, X<0&E;y<0
HY A>0%Z=X+Y o

OFzZerndp @ (mean) (5 4)
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—PEE M ITHER (AX®Y® + By’ )dx + (2x°y +12xy° +5)dy =0 By IE# (exact) » A ~ B {H A ?
WA=2B=3 (B)A:3,B:3 ©A=3B=4 DA=4,B=3
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0 otherwise
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